Y100KKG

TECHSEM BOE R E
Y5
n  SAERBKIIRSH ™~
n HREFRAE di/dt
N EFEGFE rav) 4000A S
Xl vdz: P Vorw/Vrrm  1900~3000V % ji
n giﬁ tq 50~90ps
n VS
N RS ltsm 45K A
J
N Z A
o s Z \
G 2 H W & - L0
Y g | mm | Bk
s ; 180° IE5Z¥¥, 50Hz
oy | BEFYEGE W, The=55°C 115 4000 | A
Vorm&VRrM ,  tp=10ms
x;’x gg%gﬁ%%& Vpsu&Vrsv= Vorm&Vrry+100V 115 | 1900 3000 \Y;
IbrM WIAERIEE B Vb= Vbrum
IRRM R M EE B Vr= VRrM 115 250 mA
Irsm BSAERIRFEHRR 10ms JiE %5 5% ¥ 3 45 KA
2 B Vr=0.6V N> Zor 1P
It YR L3P 5 I IR R=U.OVRRM 10 |A%s*10
V1o I T A e R 115 0.94 \Y;
re #12 L FH 0.09 mw
Vi pliib - SN Itm=5000A, F=106KN 25 2.90 \Y
dvidt | WiSBEEKR EFE Vom=0.67Vprw 115 500 | Vips
Vom= 67%Vprm to 2000A,
di/dt |ESBEAKTLAE I IR 6,050 s leu=1.5A 115 600 | Alps
BEEM
Im | REHIR Itw=1000A,tp=1000s, 220 A
tre R B ) di/dt=-20A/us, 115 10.4 ps
Qv |&E M b= 1100 | 1200 | uC
5 i itv=1000A,tp=1000ps, Vg =50V
tq | PSRRI IR dv/dt=30V/ps .di/dt=-20A/us 1151 50 90 Ks
It I JAR fulk 2 FEL Y 40 450 mA
Ver I JAR fuk ¢ FEL R Va=12V, Ia=1A 25 | 0.9 4.5 \Y
IH YRR 20 1000 | mA
Veb [ IR Ak /% LR Vom=67%Vprm 115 | 0.3 V
Rth(-h) |#FETL(4BHAER) ME#HH, 23S 106 KN 0.0075| °C /W
Fm 24 7] 98 113 KN
Tstg | FHEE -40 140 °C
W hib= 2700 g
Outline KT100cT
http://www.tech-sem.com Page 1 of 3




“ Y100KKG

TECHSEM
Peak On-state Voltage Vs.Peak On-state Current Max. junction To heatsink Thermai Impedance Vs.Time
4.5 0.008
AT
4 1,m115°C g
0.006
3.5 / 2
> o
Z 3 £ /
>
H i’é 0.004
® 2.5 = /
paua / £ /
& 2 i[@ L
@ / = /
= L/ 0.002 //
1.5 e /
1 d LA
1 — 7
O |
0.5 0.001 0.01 0.1 1 10
100 1000 10000 100000 .
TASIEAT B, A wf i, S
Fig. 1l AR 24 1 th 2 Fig.2 4 & B A FABH DT 2
Surge Current Vs.Cycles % Vs.Time
50 11000
45 10200 /
40 o« 9400 /
$ «;‘ 8600 /
s 35 = /
&_f & 7800 »
= N &=
2 30 AN = 7000 /
= N =
= 25 R 6200
puss y
e N N e
= 20 X8 5400 g
\\ 2 4600
15 P~
3800
10 3000
1 10 100 1 10
JE U5 #in, @ 50Hz i falt,ms
Fig.3 32 IR LA s B O Rl Fig.4 PURFPE il 2
Gate characteristic at 25°C junction temperature Gate Trigger Zone at varies temperature
18 7 |
‘T\' -40°C
16 /r Poy=140W 6 —
14 ” (100 1 sfik55)
max. 5 .
/ > 25°C
> 12 N .
= o
= 10 > 4
& 35 115°C
2 8 min N = 3
Z | - =
- — 2
4 Pe2W |
1
2
0 0
0 4 8 12 16 20 24 0 100 200 300 400 500 600 700 800 900
[ e, A I‘M&EE%*&,IGT, mA
Fig.5 | THL I % i 2% Fig.6 I 1Ak i A s 1 it 26

http://www.tech-sem.com Page 2 of 3



‘1 Y100KKG

TECHSEM
AR .
6@@
ES
N
— sl
$142.340.3
| $100 |
‘ . LO)|
] —
= N
\ 9100 \
! #1372 !

http://www.tech-sem.com Page 3 of 3



